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QUESTION 1

A client wants to replace the Pega 7 logo in the Case Manager and Case Worker portals. Instead of using the company
logo, the client wants you to use the logos for each the company\\'s operating subsidiaries ?a user in the ABC
subsidiary sees the logo for ABC, and a user in the XYZ subsidiary sees the XYZ logo.

How do you replace the Pega logo with the appropriate logo for each operating subsidiary?

A. Create a portal header for each division

B. Create a skin for each division

C. Create a portal record for each division

D. Create a harness for each division

Correct Answer: A

QUESTION 2

During the development of your application, you created operators for testing purposes. You are preparing to migrate
the application to another environment. You do not want to include the operators in the archive file.

Which two options exclude the operators? (Choose two.)

A. In the Operators step in the Application Packaging Wizard, clear the check boxes next to the operator names. In the
Product rule, clear the Include data types check box.

B. In the Operators step in the Application Packaging Wizard, clear the check boxes next to the operator names. In the
Product rule, clear the Include associated data items check box.

C. Before you run the Application Packaging wizard, save the operators to an organization ruleset. Select the Exclude
non-versioned rules check box in the Product rule.

D. Before you run the Application Packaging wizard, remove the associated ruleset from the operator records
Correct Answer: BD

Reference: https://communityl.pega.com/community/pega-product-support/question/operator-exportimport

QUESTION 3

You have a requirement to associate users in different units to the same workbasket.

How do you implement this requirement?

A. Associate the users to a common work group. Then associate the work group to the appropriate units
B. Associate the users to a common work group. Then associate a workbasket to the work group

C. Associate the users to a common unit. Then associate a workbasket to the common unit
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D. Associate the users to a common workbasket. Then associate the workbasket to the appropriate units

Correct Answer: D

QUESTION 4

A user is processing a case. The application displays an error message instead of running a rule.
Select the two situations in which rule resolution returns an error. (Choose two.)

A. The context of the rule chosen by rule resolution does not match the context of the referencing rule
B. The user does not have appropriate privilege to access the rule chosen by rule resolution

C. The availability of the rule chosen by rule resolution is set to Blocked

D. The rule chosen by rule resolution is in a ruleset that is not in the application\\'s ruleset list

Correct Answer:. AB

QUESTION 5

A health plan application includes a process for surgical procedure requests. Currently, there is an evaluation
subprocess in which a physician reviews the diagnosis and enters the recommended procedure and its urgency. The
request then advances to a medical director who analyzes the feedback and approves the appropriate procedure. The
health care organization has created a new requirement, which states that three physicians can perform the evaluation
independently. Only two evaluations are necessary to advance the case to the medical director.

In order to allow the three physicians to review the orders in parallel, how would you configure the process?

A. Add a cascading approvals shape that is called by the evaluation subprocess

B. Add a Split Join shape, add a list of physicians, and call the surgical procedure request process

C. Add a Split For Each shape, add a list of physicians, and call the evaluation process

D. Add a Split Join shape, add a list of physicians, and call the evaluation process

Correct Answer: B
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